

Vorticity and curvature at a stream surface

Blas Herrera

Departament d'Enginyeria Informàtica i Matemàtiques, Universitat Rovira i Virgili, Avinguda Països Catalans 26, 43007, Tarragona, Spain

Received 21 June 2006; received in revised form 19 August 2006; accepted 18 September 2006

Available online 16 October 2006

Abstract

If S is a stream surface in a flow, we show the relationship between the three components of the vorticity field on S and the curvatures of the streamlines (geodesic torsion, normal curvature and geodesic curvature).

© 2006 Elsevier Masson SAS. All rights reserved.

MSC: 76A02; 53Z05

Keywords: Vorticity; Stream surfaces; Curvature

1. Introduction

The study of the vorticity on the interfacial surfaces is of considerable interest. Recent works relate the geometry of the surfaces with the components of the vorticity, for example Wu [1], and Dopazo, Lozano and Barreras [2]. If S is a steady and free surface (both tangential components of the stress tensor vanish at the surface), Longuet-Higgins [3] shows the relationship between the tangential components of the vorticity field on S and the normal curvatures of S . In this paper we consider the case where S is a stream surface, and we find the relationship between the three components of the vorticity field on S and the curvatures of the streamlines.

We consider a stream surface S in a flow; that is: let S be a smooth surface of \mathbb{R}^3 (oriented Euclidean three-dimensional space) tangent to the smooth velocity vector field $\vec{u} = \vec{u}(p, t)$ of the flow at any fixed time t , which moves with time. Let \vec{x} be a parametrization of the smooth surface S :

$$\begin{aligned} \vec{x}: U \subset \mathbb{R}^2 &\longrightarrow \mathbb{R}^3, \\ (\xi_1, \xi_2) &\longrightarrow \vec{x}(\xi_1, \xi_2) = (x(\xi_1, \xi_2), y(\xi_1, \xi_2), z(\xi_1, \xi_2)). \end{aligned} \quad (1)$$

Let $\vec{N}(\xi_1, \xi_2)$ be the normal vector given by the parametrization

$$\vec{N} = \frac{\partial \vec{x} / \partial \xi_1 \times \partial \vec{x} / \partial \xi_2}{\|\partial \vec{x} / \partial \xi_1 \times \partial \vec{x} / \partial \xi_2\|}.$$

We consider the velocity vector field $\vec{u} = \vec{u}(p, t)$ and the vorticity vector field $\vec{\omega}(p, t) = \text{curl}(\vec{u})$ on the stream surface S . Let \vec{u}^\perp be the tangent vector field on S such that $\{\frac{\vec{u}}{q}, \frac{\vec{u}^\perp}{q}, \vec{N}\}$ is an orthonormal, direct basis (positively

E-mail address: blas.herrera@urv.net (B. Herrera).

oriented), where the velocity of the particle $q = \|\vec{u}\| \neq 0$. Let ω_{\parallel} , ω_{\perp} be the tangent components on S of the vorticity: ω_{\parallel} is the component parallel to the flow and ω_{\perp} is the perpendicular component to the flow in the direction of \vec{u}^{\perp} . Let ω_3 be the vertical component of the vorticity to S .

With these notations, in this work we will find the following

Formulation. Let S be a stream surface in a flow. Let p be a point of a streamline on S with $q \neq 0$. Then we have the following equations

$$\begin{aligned}\omega_{\parallel} &= -2q\tau_g - 2D_p\left(\frac{\vec{u}^{\perp}}{q}, \vec{N}\right), \\ \omega_{\perp} &= -2qk_n + 2D_p\left(\frac{\vec{u}}{q}, \vec{N}\right), \\ \omega_3 &= 2qk_g - 2D_p\left(\frac{\vec{u}}{q}, \frac{\vec{u}^{\perp}}{q}\right),\end{aligned}\quad (2)$$

where τ_g , k_n and k_g are, respectively, the geodesic torsion, the normal curvature and the geodesic curvature of the streamline, and D_p is the 2-covariant rate-of-strain tensor at p .

2. Geometric preliminaries

This section is dedicated to the readers that are not familiarized with the Differential Geometry.

2.1. 2-covariant rate-of-strain tensor field on S

The concept of the rate-of-strain tensor is very well-known but we need a review with algebraic language.

Given the velocity vector field \vec{u} on the space \mathbb{R}^3 , we have the well-know 2-covariant rate-of-strain tensor field D ; we will denote by e_{ij} the components of D on the affine frame $\{p; \vec{a}_1, \vec{a}_2, \vec{a}_3\}$. We can construct for each point p the tensor (the bilinear application):

$$\begin{aligned}T_p(\mathbb{R}^3) \times T_p(\mathbb{R}^3) &\xrightarrow{D_p} \mathbb{R}, \\ (\vec{v}, \vec{w}) &\longrightarrow D_p(\vec{v}, \vec{w}),\end{aligned}\quad (3)$$

where the values on the couples of the basis $\{\vec{a}_1, \vec{a}_2, \vec{a}_3\}$ are

$$D_p(\vec{a}_i, \vec{a}_j) = e_{ij}. \quad (4)$$

Therefore the value on any couple \vec{v}, \vec{w} of vectors at the point p with $\vec{v} = v_1\vec{a}_1 + v_2\vec{a}_2 + v_3\vec{a}_3$, $\vec{w} = w_1\vec{a}_1 + w_2\vec{a}_2 + w_3\vec{a}_3$ is

$$D_p(\vec{v}, \vec{w}) = (v_1, v_2, v_3) \begin{pmatrix} e_{11} & e_{12} & e_{13} \\ e_{21} & e_{22} & e_{23} \\ e_{31} & e_{32} & e_{33} \end{pmatrix}_p \begin{pmatrix} w_1 \\ w_2 \\ w_3 \end{pmatrix} = \vec{v} D_p \vec{w}^t \in \mathbb{R}. \quad (5)$$

2.2. Geodesic curvature and geodesic torsion

To define the geodesic curvature k_g of the curve $\gamma(r) \subset S$ at a point p we consider, E_p , the tangent plane to S at p , we project $\gamma(r)$ onto E_p following the direction $\vec{N}(p)$, and we obtain the plane curve $\bar{\gamma}(r)$. The curvature of $\bar{\gamma}(r)$ at p is the geodesic curvature k_g . The sign of k_g is positive or negative according to the basis $\{\bar{\gamma}'(0), \bar{\gamma}''(0), \vec{N}(p)\}$ is direct or not.

We will define the geodesic torsion τ_g of the line C on the surface S : let $\gamma(s) = \vec{x}(\xi_1(s), \xi_2(s))$ be a parametrization of C by arc length so that $p = \gamma(0)$. Let $\vec{G}(\gamma(s)) = \vec{G}(s)$ be the unit vector such that $\{\vec{T}(s), \vec{G}(s), \vec{N}(s)\}$ is an orthonormal, direct basis with $\frac{d}{ds}\gamma(s) = \vec{T}(\gamma(s)) = \vec{T}(s)$. The geodesic torsion, $\tau_g(p)$, of C at p is defined by

$$\tau_g = \frac{d\vec{N}}{ds}(\gamma(0)) \cdot \vec{G}(\gamma(0)), \quad (6)$$

where \cdot denotes the scalar product.

The affine frame $\{\gamma(s); \vec{T}(s), \vec{G}(s), \vec{N}(s)\}$ is called Darboux–Ribaucour trihedron and we have

$$\begin{aligned}\frac{d\vec{T}}{ds} &= k_g \vec{G} + k_n \vec{N}, \\ \frac{d\vec{G}}{ds} &= -k_g \vec{T} - \tau_g \vec{N}, \\ \frac{d\vec{N}}{ds} &= -k_n \vec{T} + \tau_g \vec{G},\end{aligned}\quad (7)$$

where k_n is the normal curvature of the curve γ .

Warning. Other geometers define the geodesic torsion with the opposed sign: $(\tau_g = -\frac{d\vec{N}}{ds} \cdot \vec{G} \rightarrow \frac{d\vec{N}}{ds} = -k_n \vec{T} - \tau_g \vec{G})$.

For this section see, for example, Do Carmo [4] or other books of Differential Geometry of curves and surfaces.

3. Components of the vorticity on the stream surface S

Let S be a stream surface in a flow. Let p be a point of a streamline on S with $q \neq 0$. Let k_n , τ_g and k_g be, respectively, the geodesic torsion, the normal curvature and the geodesic curvature of the streamline. Using the same ideas of Longuet-Higgins [3] and with the algebraic language of the rate-of-strain tensor D_p , we obtain the following equations:

$$\begin{aligned}\omega_{\parallel} &= -2q\tau_g - 2D_p\left(\frac{\vec{u}^{\perp}}{q}, \vec{N}\right), \\ \omega_{\perp} &= -2qk_n + 2D_p\left(\frac{\vec{u}}{q}, \vec{N}\right).\end{aligned}\quad (8)$$

To find the formula for the vertical component ω_3 , we have used the geometric interpretations of the vorticity and the rate-of-strain tensor (see, for example, Aris [5]). We obtain the following equation:

$$\omega_3 = 2qk_g - 2D_p\left(\frac{\vec{u}}{q}, \frac{\vec{u}^{\perp}}{q}\right).\quad (9)$$

But, we can demonstrate Eqs. (8) and (9) in a shorter and compact way. Then we give here this proof, which was proposed by Reviewer #2 of this paper:

Result. Let \vec{u} be a smooth vector field in a domain Ω of the oriented Euclidean three-dimensional space. Let S be a smooth surface in Ω , such that at each point $a \in S$, the vector $\vec{u}(a)$ is tangent to S at a . Let \vec{x} be a parametrization of the surface S . Let $\vec{\omega}$ and D be, respectively, the vorticity field and the rate-of-strain tensor field of the vector field \vec{u} . Let p be a point in S such that $q = \|\vec{u}(p)\| \neq 0$. Let $\gamma: s \rightarrow \gamma(s)$ be the integral curve of the vector field \vec{u} , which satisfies $\gamma(0) = p$. We know that, at least for $|s|$ small enough, $\gamma(s)$ lies in S . Let ω_{\parallel} , ω_{\perp} , and ω_3 the components of $\vec{\omega}(p)$ in the orthonormal, direct basis $\{\vec{e}_{\parallel}, \vec{e}_{\perp}, \vec{N}(p)\}$, where $\vec{e}_{\parallel} = \frac{\vec{u}(p)}{q}$ and $\vec{N}(p)$ is the normal to S at p given by \vec{x} . Then

$$\begin{aligned}\omega_{\parallel} &= -2q\tau_g - 2D_p(\vec{e}_{\perp}, \vec{N}), \\ \omega_{\perp} &= -2qk_n + 2D_p(\vec{e}_{\parallel}, \vec{N}), \\ \omega_3 &= 2qk_g - 2D_p(\vec{e}_{\parallel}, \vec{e}_{\perp}),\end{aligned}\quad (10)$$

where τ_g , k_n and k_g are, respectively, the geodesic torsion, the normal curvature and the geodesic curvature of the curve γ at p .

Proof. To shorten the notations, we will set

$$\vec{e}_{\parallel} = \vec{e}_1, \quad \vec{e}_{\perp} = \vec{e}_2, \quad \vec{N}(p) = \vec{e}_3,\quad (11)$$

and we will denote by x , y and z the coordinates in the affine frame $\{p; \vec{e}_1, \vec{e}_2, \vec{e}_3\}$. We will denote by u_1, u_2, u_3 and $\omega_1, \omega_2, \omega_3$ the three components of the vector fields \vec{u} and $\vec{\omega}$ in the orthonormal basis $\{\vec{e}_1, \vec{e}_2, \vec{e}_3\}$. Similarly, we will set, for all i and j ($1 \leq i, j \leq 3$):

$$e_{ij} = D_p(\vec{e}_i, \vec{e}_j). \quad (12)$$

Then Eqs. (10) can be written as

$$\begin{aligned} \omega_1(p) &= -2q\tau_g - 2e_{23}, \\ \omega_2(p) &= -2qk_n + 2e_{13}, \\ \omega_3(p) &= 2qk_g - 2e_{12}. \end{aligned} \quad (13)$$

But according to the expressions of $\vec{\omega}$ and D , in an orthonormal affine frame, in terms of the partials derivatives of the components of the vector field \vec{u} , we have

$$\begin{aligned} \omega_1 &= \frac{\partial u_3}{\partial y} - \frac{\partial u_2}{\partial z}, \quad \omega_2 = \frac{\partial u_1}{\partial z} - \frac{\partial u_3}{\partial x}, \quad \omega_3 = \frac{\partial u_2}{\partial x} - \frac{\partial u_1}{\partial y}, \\ e_{ij} &= \frac{1}{2} \left(\frac{\partial u_i}{\partial x_j} + \frac{\partial u_j}{\partial x_i} \right) \Big|_{x=y=z=0} \quad \text{with } x_1 = x, x_2 = y \text{ and } x_3 = z. \end{aligned} \quad (14)$$

Therefore we have

$$\begin{aligned} \omega_1(p) + 2e_{23} &= 2 \frac{\partial u_3}{\partial y} \Big|_{x=y=z=0}, \\ \omega_2(p) - 2e_{13} &= -2 \frac{\partial u_3}{\partial x} \Big|_{x=y=z=0}, \\ \omega_3(p) + 2e_{12} &= 2 \frac{\partial u_2}{\partial x} \Big|_{x=y=z=0}. \end{aligned} \quad (15)$$

Therefore Eqs. (10) are equivalent to

$$\begin{aligned} -q\tau_g &= \frac{\partial u_3}{\partial y} \Big|_{x=y=z=0} \quad (\text{see warning of Subsection 2.2}), \\ qk_n &= \frac{\partial u_3}{\partial x} \Big|_{x=y=z=0}, \\ qk_g &= \frac{\partial u_2}{\partial x} \Big|_{x=y=z=0}. \end{aligned} \quad (16)$$

Thus it remains to prove Eqs. (16).

Let us assume that the curve $s \mapsto \gamma(s)$ is parametrized by the arc length s , with $\gamma(0) = p$, and we consider the variation of its Darboux–Ribaucour trihedron (Eqs. (7)). The vector $\vec{T} = \vec{T}(\gamma(s))$ can be defined not only on the curve γ , but at any point where \vec{u} does not vanish, since we have

$$\vec{T} = \frac{\vec{u}}{\|\vec{u}\|}. \quad (17)$$

Therefore we may write

$$\frac{d\vec{T}}{ds} = \frac{\partial \vec{T}}{\partial x} \frac{dx}{ds} + \frac{\partial \vec{T}}{\partial y} \frac{dy}{ds} + \frac{\partial \vec{T}}{\partial z} \frac{dz}{ds}, \quad (18)$$

where x , y , and z stand for $x(\gamma(s))$, $y(\gamma(s))$, and $z(\gamma(s))$, respectively. But for $s = 0$, we have

$$\left(\frac{dx}{ds}, \frac{dy}{ds}, \frac{dz}{ds} \right) \Big|_{s=0} = (1, 0, 0). \quad (19)$$

So we have

$$\begin{aligned} \frac{d\vec{T}}{ds} \Big|_{s=0} &= \frac{\partial \vec{T}(x, y, z)}{\partial x} \Big|_{x=y=z=0} = \frac{1}{\|\vec{u}(p)\|} \frac{\partial \vec{u}(x, y, z)}{\partial x} \Big|_{x=y=z=0} - \frac{1}{\|\vec{u}(p)\|^2} \frac{\partial \|\vec{u}(x, y, z)\|}{\partial x} \Big|_{x=y=z=0} \vec{u}(p) \\ &= \frac{1}{q} \frac{\partial \vec{u}(x, y, z)}{\partial x} \Big|_{x=y=z=0} - \frac{1}{q} \frac{\partial \|\vec{u}(x, y, z)\|}{\partial x} \Big|_{x=y=z=0} \vec{e}_1. \end{aligned} \quad (20)$$

Since $\vec{e}_1 \cdot \vec{e}_2 = \vec{e}_1 \cdot \vec{e}_3 = 0$, by making the scalar product of both sides of the above equation by \vec{e}_2 , then by \vec{e}_3 , we get

$$\begin{aligned} \frac{d\vec{T}}{ds} \Big|_{s=0} \cdot \vec{e}_2 &= \frac{1}{q} \frac{\partial u_2(x, y, z)}{\partial x} \Big|_{x=y=z=0}, \\ \frac{d\vec{T}}{ds} \Big|_{s=0} \cdot \vec{e}_3 &= \frac{1}{q} \frac{\partial u_3(x, y, z)}{\partial x} \Big|_{x=y=z=0}. \end{aligned} \quad (21)$$

Let us now write the first equation (7) for $s = 0$, and let us make the scalar product of both its sides first by the vector $\vec{e}_2 = \vec{G}(\gamma(0))$, then by the vector $\vec{e}_3 = \vec{N}(\gamma(0))$. We obtain

$$k_g(\gamma(0)) = \frac{d\vec{T}}{ds} \Big|_{s=0} \cdot \vec{e}_2, \quad k_n(\gamma(0)) = \frac{d\vec{T}}{ds} \Big|_{s=0} \cdot \vec{e}_3. \quad (22)$$

The above result and Eqs. (21) show that the second and the third formulae (16) (which are equivalent to the second and the third formulae (10)) are proven.

We still have to prove the first formula (10), or equivalently the first formula (16). Let us write the third equation (7) for $s = 0$, and let us make the scalar product of both its sides by $\vec{e}_2 = \vec{G}(\gamma(0))$. We get

$$\tau_g(\gamma(0)) = \frac{d\vec{N}}{ds} \Big|_{s=0} \cdot \vec{e}_2. \quad (23)$$

In a neighbourhood of p , the surface S can be described by the equation

$$z = h(x, y), \quad (24)$$

where h is a smooth function which satisfies, since the coordinate plane $z = 0$ is tangent to S at point p (coordinates $x = y = z = 0$):

$$z(0, 0) = 0, \quad \frac{\partial h(x, y)}{\partial x} \Big|_{x=y=0} = \frac{\partial h(x, y)}{\partial y} \Big|_{x=y=0} = 0. \quad (25)$$

Observe that the vector $\vec{N}(\vec{x}(x, y)) = \vec{N}(x, y, h(x, y))$ is given by

$$\vec{N}(x, y, h(x, y)) = \frac{1}{\sqrt{(\partial h/\partial x)^2 + (\partial h/\partial y)^2 + 1}} \left(-\frac{\partial h}{\partial x} \vec{e}_1 - \frac{\partial h}{\partial y} \vec{e}_2 + \vec{e}_3 \right). \quad (26)$$

An easy calculation (with (19) and (25)) then shows that Eq. (23) is equivalent to

$$\tau_g(\gamma(0)) = -\frac{\partial^2 h(x, y)}{\partial x \partial y} \Big|_{x=y=0}. \quad (27)$$

Let us now write that the vector field \vec{u} is tangent to S at each of its points, i.e. that $\vec{u}(x, y, h(x, y)) \cdot \vec{N}(x, y, h(x, y)) = 0$: we must have, at every point of S ,

$$\frac{\partial h}{\partial x} u_1 + \frac{\partial h}{\partial y} u_2 - u_3 = 0. \quad (28)$$

We take the derivative of the left side of above expression with respect to y ($z = h(x, y)$ being regarded as a function of x and y). Then we make $x = y = 0$. Many terms vanish and we get

$$\frac{\partial u_3(x, y, z)}{\partial y} \Big|_{x=y=z=0} = u_1 \frac{\partial^2 h(x, y)}{\partial x \partial y} \Big|_{x=y=0} = -q \tau_g(\gamma(0)). \quad (29)$$

We have proven the first formula (16), which is equivalent to the first formula (10). \square

Finally, we summarize this work with the formulation presented in the introduction of this paper: Eqs. (2).

Acknowledgements

We would like to express our thanks to the Reviewers for their contribution to this work.

Also, we would like to thank Dr. Xavier Grau and Dr. Jordi Pallarés and Dr. Agustí Reventós for their support to this work.

This work was supported by the “Dirección General de Investigación Científica y Técnica” (Spain), project no. CTQ2005-09182-C02-02.

References

- [1] J.Z. Wu, A theory of three-dimensional interfacial vorticity dynamics, *Phys. Fluids* 7 (1995) 2375–2395.
- [2] B. Dopazo, A. Lozano, F. Barreras, Vorticity constraints on a fluid/fluid interface, *Phys. Fluids* 12 (2000) 1928–1931.
- [3] M.S. Longuet-Higgins, Vorticity and curvature at a free surface, *J. Fluid. Mech.* 356 (1998) 149–153.
- [4] M.P. do Carmo, *Differential Geometry of Curves and Surfaces*, Prentice-Hall, 1976 (504 pp.).
- [5] R. Aris, *Vectors, Tensors, and the Basic Equations of Fluid Mechanics*, Dover Publications, 1962 (286 pp.).